| Name                | Mr Giles Orpen-Smellie |
|---------------------|------------------------|
| Expense Cost Center | A2PC081                |
| Expense Dates       | 01/04/2022-30/04/2022  |
| Approver            | Mr Mark Stokes         |
| Total               | £431 55                |

| Start Date | End Date  | Expense Type       | Justification                                       | Trip Distance | Mileage Rate | Reimbursable Amount |
|------------|-----------|--------------------|---|---------------|--------------|---------------------|
| 04-Apr-22  | 04-Apr-22 | Force Mileage HMRC | Meeting with New High Sheriff - Norwich and return  | 42            | 0.45         | £18.90              |
| 20-Apr-22  | 20-Apr-22 | Force Mileage HMRC | Topping Out Ceremony - Broadland Gate               | 26            | 0.45         | £11.70              |
| 21-Apr-22  | 21-Apr-22 | Force Mileage HMRC | Police & Crime Panel - County Hall and return       | 58            | 0.45         | £26.10              |
|            |           |                    | Visit to Yarmouth Police followed by Great Yarmouth |               |              |                     |
| 22-Apr-22  | 22-Apr-22 | Force Mileage HMRC | Borough Council Civic Reception and return          | 82            | 0.45         | £36.90              |
| 23-Apr-22  | 23-Apr-22 | Force Mileage HMRC | Visit to Easton Country Fair and return             | 102           | 0.45         | £45.90              |
| 27-Apr-22  | 27-Apr-22 | Force Mileage HMRC | APCC General Meeting - London                       | 30            | 0.45         | £13.50              |
| 28-Apr-22  | 28-Apr-22 | Force Mileage HMRC | APCC General Meeting - London                       | 30            | 0.45         | £13.50              |
| 27-Apr-22  | 27-Apr-22 | Car Parking        | Car parking for APCC General Meeting - London       | N/A           | N/A          | £32.00              |
| 27-Apr-22  | 27-Apr-22 | Rail Travel        | Train for APCC General Meeting - London             | N/A           | N/A          | £62.10              |
| 27-Apr-22  | 27-Apr-22 | Rail Travel        | Tube fare in London                                 | N/A           | N/A          | £10.00              |
| 27-Apr-22  | 27-Apr-22 | Accommodation      | Accommodation for APCC General Meeting              | N/A           | N/A          | £125.00             |
| 27-Apr-22  | 27-Apr-22 | Subsistence        | Subsistence for APCC General Meeting                | N/A           | N/A          | £35.95              |

| Name                | Mr Giles Orpen-Smellie |
|---------------------|------------------------|
| Expense Cost Center | A2PC081                |
| Expense Dates       | 01/05/2022-31/05/2022  |
| Approver            | Mr Mark Stokes         |
| Total               | £578.20                |

| Start Date | End Date  | Expense Type       | Justification   | Trip Distance | Mileage Rate | Reimbursable Amount |
|------------|-----------|--------------------|---|---------------|--------------|---------------------|
| 03-May-22  | 03-May-22 | Force Mileage HMRC | NCC Cabinet Meeting                                     | 58            |              | £26.10              |
| 04-May-22  | 04-May-22 | Force Mileage HMRC | Visit to Foundations                                    | 42            | 0.45         | £18.90              |
| 05-May-22  | 05-May-22 | Force Mileage HMRC | Visit to the SARC                                       | 26            | 0.45         | £11.70              |
|            |           |                    |   |               |              |                     |
| 11-May-22  | 11-May-22 | Force Mileage HMRC | Passing Out Parade Intake 721                           | 42            | 0.45         | £18.90              |
| 12-May-22  | 12-May-22 | Force Mileage HMRC | Visit to NCA  | 44            | 0.45         | £19.80              |
| 16-May-22  | 16-May-22 | Force Mileage HMRC | Visit to Pathway Out Project                            | 42            | 0.45         | £18.90              |
| 18-May-22  | 18-May-22 | Force Mileage HMRC | Home Office Drugs Summit - London                       | 22            | 0.45         | £9.90               |
| 19-May-22  | 19-May-22 | Force Mileage HMRC | Home Office Drugs Summit - London                       | 22            | 0.45         | £9.90               |
|            |           |                    | Visit to W & N Norfolk District Counselling Service for |               |              |                     |
| 27-May-22  | 27-May-22 | Force Mileage HMRC | Sexual Violence Victims                                 | 56            | 0.45         | £25.20              |
| 30-May-22  | 30-May-22 | Force Mileage HMRC | Visit to VAWG 141 Challenge                             | 42            | 0.45         | £18.90              |
| 11-May-22  | 11-May-22 | Car Parking        | Car parking for Passing Out Parade Intake 721           | N/A           | N/A          | £2.20               |
| 12-May-22  | 12-May-22 | Rail Travel        | Train and Tube Fare for NCA Meeting- London             | N/A           | N/A          | £79.75              |
| 12-May-22  | 12-May-22 | Car Parking        | Car Parking for NCA                                     | N/A           | N/A          | £13.00              |
| 16-May-22  | 16-May-22 | Car Parking        | Parking for Visit to Pathway Out Project                | N/A           | N/A          | £4.50               |
|            |           |                    | Train and Tube Fare for Home Office Drugs Summit -      |               |              |                     |
| 18-May-22  | 18-May-22 | Rail Travel        | London  | N/A           | N/A          | £72.10              |
|            |           |                    | Accommodation for Home Office Drugs Summit -            |               |              |                     |
| 18-May-22  | 18-May-22 | Accommodation      | London  | N/A           | N/A          | £155.00             |
| 18-May-22  | 18-May-22 | Subsistence        | Subsistence for Home Office Drugs Summit - London       | N/A           | N/A          | £57.45              |
| 19-May-22  | 19-May-22 | Car Parking        | Car parking for Home Office Drugs Summit - London       | N/A           | N/A          | £12.00              |
| 30-May-22  | 30-May-22 | Car Parking        | Car parking for Visit to VAWG 141 Challenge             | N/A           | N/A          | £4.00               |

| Name                | Mr Giles Orpen-Smellie |
|---------------------|------------------------|
| Expense Cost Center | A2PC081                |
| Expense Dates       | 01/06/2022-30/06/2022  |
| Approver            | Mr Mark Stokes         |
| Total               | £189.00                |

| Start Date | End Date  | Expense Type       | Justification                                  | Trip Distance | Mileage Rate | Reimbursable Amount |
|------------|-----------|--------------------|--|---------------|--------------|---------------------|
| 15-Jun-22  | 15-Jun-22 | Force Mileage HMRC | Constabulary awards ceremony                   | 48            | 0.45         | £21.60              |
| 16-Jun-22  | 16-Jun-22 | Force Mileage HMRC | Visit to Rowan Project                         | 46            | 0.45         | £20.70              |
| 20-Jun-22  | 20-Jun-22 | Force Mileage HMRC | Lunch with former High Sheriff                 | 42            | 0.45         | £18.90              |
| 21-Jun-22  | 21-Jun-22 | Force Mileage HMRC | Rural Crime Briefing                           | 80            | 0.45         | £36.00              |
| 24-Jun-22  | 24-Jun-22 | Force Mileage HMRC | Police surgery, Hunstanton                     | 54            | 0.45         | £24.30              |
| 27-Jun-22  | 27-Jun-22 | Force Mileage HMRC | Police & Crime Panel                           | 58            | 0.45         | £26.10              |
| 28-Jun-22  | 28-Jun-22 | Force Mileage HMRC | Royal Norfolk Show                             | 40            | 0.45         | £18.00              |
| 29-Jun-22  | 29-Jun-22 | Force Mileage HMRC | Royal Norfolk Show                             | 40            | 0.45         | £18.00              |
| 20-Jun-22  | 20-Jun-22 | Car Parking        | Car Parking for Lunch with former High Sheriff | N/A           | N/A          | £5.40               |

| Name                | Mr Giles Orpen-Smellie |
|---------------------|------------------------|
| Expense Cost Center | A2PC081                |
| Expense Dates       | 01/07/2022-31/07/2022  |
| Approver            | Mr Mark Stokes         |
| Total               | £537.25                |

| Start Date | End Date  | Expense Type       | Justification                                | Trip Distance | Mileage Rate | Reimbursable Amount |
|------------|-----------|--------------------|--|---------------|--------------|---------------------|
| 05-Jul-22  | 05-Jul-22 | Force Mileage HMRC | NALC AGM                                     | 16            | 0.45         | £7.20               |
| 05-Jul-22  | 05-Jul-22 | Force Mileage HMRC | High Sheriff's reception                     | 60            | 0.45         | £27.00              |
| 13-Jul-22  | 13-Jul-22 | Force Mileage HMRC | APCC AGM                                     | 44            | 0.45         | £19.80              |
| 15-Jul-22  | 15-Jul-22 | Force Mileage HMRC | Visit to Sue Lambert Trust                   | 42            | 0.45         | £18.90              |
| 21-Jul-22  | 21-Jul-22 | Force Mileage HMRC | Breckland Council Scrutiny Committee meeting | 26            | 0.45         | £11.70              |
| 21-Jul-22  | 21-Jul-22 | Force Mileage HMRC | Visit to Norfolk Community Foundation        | 42            | 0.45         | £18.90              |
| 22-Jul-22  | 22-Jul-22 | Force Mileage HMRC | Surgery with Chloe Smith MP                  | 27            | 0.45         | £12.15              |
| 22-Jul-22  | 22-Jul-22 | Force Mileage HMRC | Surgery with Chloe Smith MP                  | 4             | 0.45         | £1.80               |
| 22-Jul-22  | 22-Jul-22 | Force Mileage HMRC | Surgery with Chloe Smith MP                  | 19            | 0.45         | £8.55               |
| 25-Jul-22  | 25-Jul-22 | Force Mileage HMRC | Norfolk & Suffolk Collaboration meeting      | 88            | 0.45         | £39.60              |
| 13-Jul-22  | 13-Jul-22 | Car Parking        | Car Parking for APCC AGM                     | N/A           | N/A          | £26.00              |
| 13-Jul-22  | 13-Jul-22 | Rail Travel        | Train and Tube fare for APCC AGM             | N/A           | N/A          | £50.95              |
| 13-Jul-22  | 13-Jul-22 | Accommodation      | Accommodation for APCC AGM                   | N/A           | N/A          | £220.00             |
| 13-Jul-22  | 13-Jul-22 | Subsistence        | Subsistence for APCC AGM                     | N/A           | N/A          | £55.50              |
| 15-Jul-22  | 15-Jul-22 | Car Parking        | Car parking for Sue Lambert Trust            | N/A           | N/A          | £15.00              |
| 21-Jul-22  | 21-Jul-22 | Car Parking        | Car parking for Norfolk Community Foundation | N/A           | N/A          | £4.20               |